SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 1)

TEST 2

Name:

Time: Score:

0 832412 — 230302 =

2 603596 — 202285 =

39624260 — 114210 =

1748148 — 606015 =

5 763863 — 41451 =

6 339936 — 226506 =

N 330909 — 906 =

9 8069348 — 450330 =

9 343940 — 12720 =

100626151 — 14020 =

1) 2877488 — 1801363 =

12) 9946739 — 3901427 =

13) 3362502 — 335211 =

1) 478660 — 211350 =

15 519928 — 209921 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 1
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364382 — 231082 =

586085 — 183012 =

559702 — 350200 =

447887 — 245013 =

255045 — 231022 =

749116 — 401006 =

949310 — 26000 =

6294427 — 3141205 =

1974467 — 1942261 =

731626 — 630215 =

629433 — 400020 =

894896 — 262731 =

761306 — 31202 =

429646 — 402511 =

896518 — 140214 =
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